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2022
EDUCATION
Paper : EDU-HC-4026
( Educational Statistics )

( Honours Core )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Fill in the blanks of the following

(any seven) : 1x7=7
e fERe Ye  fm/ad R sRa w0
(R e seot) :

fa) Write a definition of statistics.

“if e e abr sgen faper
(b)

is the most frequently occurring
score in a distribution.

@3 Rememe [ ifde JFaRte ca At i
|
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(2) | (3)

(c) is a figure which indicates how (h)
many times a specific score repeats
itself in a given class interval.

means interrelationship between
two or more variables.

7 o Carm R A1 wrelfds ARasAn
xR 90 RY, RA @ «@h o N
I TIsfe e 91 AR R «fRme
fc 3 | () Normal probability curve is
shaped.
(d) Round off the following number to two
decimals : AAN el 95 Sghed |
o TR o1 IRE EFA KRS (round () The curve that is more peaked than
off) 1 : normal probability curve is a

97-82556 curve.
) SBIEe] Jwed S8e (&6 I& AR
(e) What other name can be used in place 2
of OY axis? LU TR

OY w4 ef o+ % 7 T2 FR3 21 2 :
2. Answer any four of the following questions :

() Under normal conditions, | 2x4=8
represents its group in the most reliable o & e 1
manner. pTyRd R e wiferE
greres ARfEfee, @2 %fifE 2 = (@) Mention two advantages of frequency
3 SHRGR wiET Péamrer afhify 3@ distribution table.

TR Roree] Siferrd o1 [T Teas |

(9) The word ‘standard deviation’ was
coined by . (b)) Write two advantages of central
‘Standard deviation’ *5| Q #5e tendency. :
el R 2Rerer o 3 T
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(c)

(d)

(e)

{g)

22A/1123

(4)

What is the formula to calculate median
from ungrouped data, if data are even?

SRS AR N4 e @t o, cifem g
M S0 JW=A |

Write two uses of mean.

SS9 WB1 e fowed foran |

The median and mode of a distribution
are 2825 and 25'55 respectively. Find
out the mean.

@Al 93 oeeR 9 W IgEed I
FUECH 2825 TIF 2555 | 1% T Tfere |

Find the mode from the following
scores :

e IFPTRA [l 36 Sfersa
10, 15, 10, 18, 19, 18, 20, 22

In a test, the mean of marks for a group
of 50 students is 50 and that on the
same test the mean for another group of
30 students is 60. Find the combined
mean of these two groups.

QI B R @51 50ua FrER =
I O RS 50 WP G0 ARNFreD
<61 30T PR 7o 791 st e 60 |
7 YO I HYS o Sreq |

{ Continued )

(S)

(h) If Q3 =86-37 and Q=12-18, find the

value of Q.
MM Qy =86-37 WF Q=12-18 =, O;3 T4
Sferedr |

3. Answer any three of the following questions :

5x3=15

©od PP R e fofbr Tee fra
{a) Mention five characteristics of mean.

519 #1561 CAPE1 SeEy 91 |
(b) Write five general principles of drawing a

graph.

@fog ETe TR @R v ARG TS

fap |

() Write about the drawing procedure of
frequency polygon.

IR TTTER TE S FoE &4 |

(d) Calculate average deviation from the
following scores :

oo AARPTER 1 1 R e -

20, 18, 42, 46, 50, 64, 75
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(e)

(9)

(h)
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(6)

Find out the standard deviation of the
following scores :

S AMPTERA o1 e RprfS Sferear

8,9, 10, 11, 12, 13, 14, 15

Ranking of 7 students in two subjects X
and Y are as follows :

7 & Py e X o Yo =S 31 wipigz
were frar 439

Vi ol iBh el hid o Se g gl i

Find out the coefficient of correlation
between the marks of subject X and
subject Y by rank difference method.

T N4 Aol R X S Y3 7591 srorm
SE e 341

Mention five characteristics of normal
probability curve.

ST TSIl @4 SioT ¢ By SrEe 74 |

In a class test, a student has secured
50 marks. The mean of the group is 60
and standard deviation is 6. What is the
percentile rank of the student?

( Continued )

(7))

QR PRy o6 e AR IR 9]
&= 50, AR S TF9 (R 60 W A
Rpfs tzz 6; FrmfioReR e Tm
2’37

4. Answer any three of the following questions :

10x3=30
o 2ppTgRd R @I bR Ted kT
(a) Find out mean from the following
distribution :
woq ReTemR o[ 5% ey 4 :
Class interval Frequency
9 & Rl
45-49 2
40-44 3
35-39 2
30-34 6
25-29 8
20-24 8
15-19 y T
10-14 S5
5-9 9
N=50
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(8) ' (9)

(b) Draw a histogram from the following (d) Find out quartile deviation from the
table (use graph paper) : following distribution :
TR IR o[l SEefE @b s 11 (@Y oo ey o[ vede [pfe Sferea :
AR ?ﬁﬁﬁ"[) : Class interval Frequency
Class interval Frequency 9 ST CISIEE
A ST IRSIE 35-39 9
85-89 8 30-34 5
80-84 9 25-29 6
75-79 10 2024 10
70-74 5 15-19 8
65-69 8 10-14 2
60-64 4 N=40
e 3 (e) Find out Py, and P;g of the following
50-54 9

distribution table :
o erer O [l Py S Prsd I

N=756

(c) Find out standard deviation of the

following distribution by using long Tfersdr :

method : Class interval Frequency
T R [ Y S 39 TR IE @?OT W‘Zﬁ@

ﬁf}% faefg w1 - 5B :

Class interval Frequency 4044 2

T ST AT il 6

30-34 2 it .

25-29 3 s 8

20-24 6 20-24 7

e 3 15-19 5

10-14 2 o ,

N=20 N=50
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(10 )

() Find out the percentile rank of 24 and
55 of the following distribution table :

e RPNl [ReoeE SieR °[ 24 =
55 B9 XSIXF T Sf1ed :

Class interval Frequency
T SETA IRSIRS!

80-89 2
T70-79 1
60-69 1
50-59 2
40-49 5
30-39 4
20-29 3
10-19 2

N=20

(g) Compute the coefficient of correlation by
product moment method between the
given two sets of scores :

QI T A Am8 R A PR Ieq
TR BT Sfereq]

X : 65 60 50 40 30 20 80
Yy : 50 55 80 90 85 79 77
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(11)

(h) The percentile rank of a student is 80 in
a test in English. The mean is 50 with
standard deviation 7. What is the marks
secured by the student?

2@ e R @b wREd gl
QSRR OISR TN (R 80, P @l
IR oG T (2 50 we af Rpfe 7;
Frm Ry e 739 “1Rf=e ?
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